T Series




RN\
PIPES

Coated Pipe

Powder Coated Pipe

SUS Pipe

Galvanized Pipe

Aluminum Alloy Pipe

A%

1. Production Craft

Thig craft includs single-step and automatic integrated process.

Because of the high cost of the first crait, RELL suggests the second one, Moregver, we have successiully
researched the automatic integrating pipe craft.

2. Performance and Parameters
Pipe is composed of five parts.

It can be provided according to customers different requirments on performance,

1. Colorful

Wider selection of colors and textures,
2. UV light resistance

Can be used in outdoors.

3. Non-flammable

Mo emission of toxic fumes in fire.

4. Economical
20% less than coated pipe. 35% less than ESD pipe.30% less than SUS pipe,

5. Environmental
Powder coated pipe is fully recyclable, Powder coated pipe of internal and external surface.

1. High Strength & Durablity

Surface resistant fo light abrasion or centact with melal tools.
2. High Qil & Chemical Resistance

High resistance to oil, solvents bleaches ale.

3. Non-flammable
Inherently non-flammable.

4. Conductive
Inherently conductive.

5. Environmental
SUS pipe is fully recyclable,

1. Economical
2. UV light & Chemical resistance
High resistance to UV light,oil solvents, bleaches, etc.

3. Non-flammable
Inherently non-flammable.

4. Conductive
Inherently conductive,

3. Environmental
Galvanized pipe is fully recyclable.

1. Environmental

Aluminum pipe achieves a superb recyclability.

2. Weight

Weight reduced by 40% comparing with steel coated pipe.

3. Aesthetic
Alumite treatment allows for "maintenance-free” excellent appearance that lasts for long.



Unit : mm

PE Coated Pipe 2440 28 x 1.0

Green(N) T-PE10N2440

Blue(U) T-PE10U2440

Red(R) T-PE10R2440

T-PE10EZ440

T-PE10Y2440

LightYellow(LY) T-PE10LY2440

Ivory(V) T-PE10V2440

T-FE10G2440

Snow White(SW)

T-PE10DG2440

T-FE10B2440

T-PE105W2440

T-PE10MW2440

Milky White(MW)

PE Coated Pipe 4000 28 x0.7 28 x 0.9 28x 1.0 28 x1.1 28 x 1.4 28 x2.0
Green(N) T-PEO7N T-PEOSN T-PE10N T-PE11N T-PE14N T-PE20N
Blue(U) T-PEO7U T-PEO9U T-PE11U T-PE14U
Red(R) T-PEOTR T-PEQSRE T-PE10R T-PE11RE T-PE14R T-PE2OR
T-PEOTE T-PEOQ9E T-PE10E T-PE11E T-PE14E T-PEZ0E
T-PEOTY T-PE0SY T-PE10Y T-PE11Y T-PE14Y T-PE20Y
LightYellow(LY) T-PEOSLY | T-PE10LY T-PE20LY

Ivory(V)

T-PEOTV

T-PEOSY

T-PE10V

T-PE11V T-PE14V

T-PE20V

_ T-PEOTG T-PEOSG T-PE10G T-PE11G T-PE14G T-PE20G
T-PEQTDG T-PEOSDG T-PE110G T-PEZ20DG
Black(B) T-PEOTB T-PEO9B T-PE10B T-PE11B T-PE14B T-PE20B
Snow White(SW) T-PEO7SW  T-PEOSSW  T-PE10SW  T-PE11SW  T-PE14SW  T-PE20SW
Milky White(MW) T-PEOTMW T-PE14MW T-PE2OMW
ABS Coated Pipe 4000 28x1.0 28 x 2.0
Green(N) T-ABS10N T-ABS20N
Blue(U} T-ABS10U
Red(R) T-ABS20R
Orange(E) : _ T-ABS10E T-ABS20E
“Yellow(Y T-ABS20Y
LightYellow(LY) T-ABS10LY T-ABS20LY

T-ABS20V

Ivory (V)

Elack(B)

Snow White(SW)

T-ABS10V

T-ABS10G

T-ABS10B

T-AB320G
T-ABS20DG

T-ABS20B

T-ABS20SW

T-AES105W

T-ABS10MW

T-ABS20MW

Milky White(MW)



RN\

PIPES
Powder Coated Pipe 4000 28x1.0
Green(N) T-PW10N
Blue(U} T-PW10U
Red(R) T-PW10R
Orange(E) T-PW10E
‘ellow(Y) T-PW10Y
LightYellow(LY) T-PW10LY
Ivory(V) T-PW10V
T-PW10G
T-PW10DG
T-PW10B
Snow White(SW) T-PW10SW
Milky White(MW) T-PW10MW
ESD Pipe 28x%x1.0 28x20
Black(B) T-ESD10B
Black(B) T-ESD10B2440
Flat Pipe 28x1.0
O T-FL10V
T-FL10UZ2440
Slide Pipe 28x1.0
O T-SL10V
SUS 201 Pipe 28x0.7 28x0.9 28 x 1.1
- —— TR

STS 409 Pipe 28 x 0.7

— T-STSOT

L T-5STS072440

Galvanized Pipe 28x 1.0
—_——
Aluminum Alloy Pipe 28x1.2

G : T-AL120X

| =



METAL JOINTS



_ \\\\N ﬂ

METAL JOINTS SURFACE : @BK OWZ ONP COCP @FPC
H-1 H-1A H-2 H-3 tUngrip Type}
kglPe 0,067 ka/Pe 0,058 ka/Pe 0,004 kg/Pe 0,120
Pe/Cin 200 Pe/Ctn 380 Pe/Cin 200 Pe/Ctn 80

H-3K (Grip Type) H-5 H-6

kg/Pc 0.120 ka/Pe 0.108 kalPe 0.045 kgiPe 0.050
FefCin a0 FeiCin 200 FefCin 300 FelCin 300
H-BA H-7 H-7 A H-8

1 i
kgiPe 0.066 kaglPe 0.048 kglPe 0.040 kgl/Pe 0067
PefCin 240 PefCin 200 PefCin 3040 PeiCin 240
H-9 H-10 H-11 H-12
kglPe 0062 kg/Pe 0.054 ka/Pe 0060 kgl/Pe 0.063
PefCin 330 PefCin 300 PerfCin 280 PelfCin 240
H-13 H-13A H-13B H-14
kg/Pe 0.053 kgl/Pe 0.052 kg/Pc 0.044 kgl/Pe 0,056
PefCin 300 PefCin 330 PefCin 40 PefCin 320

12



H-15 H-16 H-16A H-17

§ & & W

kg/Pe 0,038 kglPec 0,048 kg/Pe 0,048 ka/Pe¢ 0.069
FciCin 400 FefCin 4040 FciCin 400 FelfCin 230
H-18 H-19 H-20 H-21

kgiPe 0,069 kalPe 0.062 kgiPe 0.070 kalPe 0.133
FafCin 220 FafCin 150 FafCin 200 FoiCin 150
H-23 H-24 H-30 H-45
kgiPe 0.064 kglFe 0102 kg/Fc 0.062 kgl/Pc 0.066
PefCin 80 PefCin 20 PefCin 330 PaiCin 230
H-60 H-90 H-110 H-160
kgiPe 0.083 kglPe 0102 kglPe 0113 kg/Pe 0114
PefChin 150 PefCin 150 PefCin 150 PefCin 160
H-180

kg/Pc 0.071
Pe/Cin 300

13




_ \N\\N

14

METAL JOINTS (®33) SURFACE : @8K OWZ ONP OCP @FC
H-103 H-403 H-13C H-13D
kgiPe 0.073 ka/Pe 0,108 kg/Pe 0.069 kg/Pe 0,068
FefCin 240 FelCtn 2040 FefCin 180 PefCin 180

METAL JOINTS ($28.6)
H-101 H-102 H-301 H-401

kg/Pc 0.07& kg/Pe 0.078 kg/Pc 0.120 kg/Pe 0. 108
PefCin 200 PelCin 200 PefCin ] PeiCin 200



METAL JOINTS (T 2.3)

H-1 H-2 H-3 {Ungrip Type}

kg/Pe 0.061 kalPe 0.088 kgl/Pe 0.111 kag/Pe 0.098
Pa/Cin 300 Pc/Cin 200 Pc/Cin g0 Pc/Cin 200
H-5 H-6 H-13A H-15

kg/Pe 0.042 kg/Pc 0.055 kg/Pe 0.050 kg/Pc 0.032
Pc/Ctn 300 Pe/Ctn 300 Pc/Cin 330 Pc/Cin 400
H-16 H-17 H-18 H-90

kg/Pc 0.042 kg/Pe 0.065 kg/Pc 0.065 kg/P¢ 0.085
PelCin 400 Pel/Ctn 220 PeiCin 220 PelGin 150

METAL JOINTS (T 2.3 NEW)

H-1 H-2 H-3

kgl/Pc 0.061 kg/FPc 0_(HEE kg/Pc o111
PeiCln 300 PefCln 200 PelCln &0

15



b

l. s il I3

1L : Jeiets ; r
T R
O:IL*.\..

¥

T
Al R
R
et
:r'.\;..-
L e

RACKS

R-

Shaft Distance
Roller Track Width



~_A\\\\\N
ROLLER TRACKS SURFACE : @8K 0wz

R-3533

kg/m 0.830
miFg 4
m/Bdl 40
R-4036 : R-S4036

fo— 40— — 40 —=|
kg/m 1.100 kglfm 1.100
miPc 5.99 miPc 4
miBdl 3949 miBdl 40
R-4036A R-S4036A -
o A
o e
4 { ,-‘;'
4 4 hg
4 ¥ { » E
’ P |
» (]
"
/ kg/m 1.100 . kg/m 1.100
m/Pe 3.0 : miPe 4
mdBdl 399 i Bdl 40
R-40225 | R-4045A
=] ) =
i i
32 -1- :
; 435
! 275
i |
1 40 -
kg/m 1.100 kg/m 1.100
miPe 4 miPc 4
miBdl 40 miBdl 40
R-6016 R-6032
£
4 o al T 44 —
b e.l‘JI 48— |
¥ i
. i 1:5 ﬁ—"—" 30
: i 20 27.5 |
/ i FE,
—— 60—+ -~ 60—~
kgfm 1.450 : kg'm 1,450
miPe 4 miPe 4
miBdl 24 m/Bdl 2d

18



R-8040

R-8519

R-8525

i_... - 53 — .._;
i i
3.‘ o 1 44 5
i 275
! |
i —
kg/m 1.620
miPc 4
B dl 16

(- 85 -
kg/m 2.000
miPg 4
Bl 16

S .E.ﬁ -
kg 1.650
miPe 4
miBdl 16

R-S8040

R-58520

R-8550

kgim
mPe
m/Bdl

— BE —

19



___\N\\\N

20

ROLLER TRACKS (R-28H) SURFACE : @Bk OWz

R-28H1 R-28H2

R-28H3 R-286H4B
R-28H5 R-28H5B

kg/Pe 0.112 e kg/Pe 0117
PclCin 110 PcliCin 110

%.
%

ROLLER TRACKS (R-35H)
R-35H1

@,

R-35H3A

v,

._l'-"

g | #

kg/Pc 0.191
ab

PoiCtn PciCin a0



ROLLER TRACKS (R-40H)

R-40BH1 R-40BHZ2

.
-

T

R-40BH3 R-40BH4
&
<
R-40BHS R-40BHG
// kgiPe 0.180
Pe/Ctn 110
R-40BHGA R-40BH31
// kg/Pe 0.230 W kg/Pe 0.180
' Pe/Clin 50 Pe/Ctn 80
R-40BH33

21



________________\N\\\N
ROLLER TRACKS (R-40H)

R-40H1 R-40H2

>

R-40H3 R-40H6

] Pe/Ctn 40

R-40HBA

"

ROLLER TRACKS (RP-40)

RP-40A RP-40B
R2
Ri5 s j
40
t
= =
= 95 -
0.2880
4
40
i RZ
78 6.5 i
40
1 1
fe e AR
0980
miPe 4
m/Bdl 40

22

SURFACE : @BK OWZ

kg/Pe 0.272
FafCin 50
R2 i
j 70
! 33
13;.5 i
SNESY'T ) p—
kg/m 0.660
miFe dq
miBdl 40



ROLLER TRACKS (ODM)

R-40BHZ2B

R-40BH4A

kg/Pg

R-40BH4B

kalPe 0.180
FefCin 40
R-4040H1
-~
: *
3
kg!Pe 0.290 : |4’
Pc/Cin 30
R-4040H3 R-44H1
R-85H2A

kglPc

PciCin a5

kg/Pc
PefGin 45

kgl/Pe 0.186

ka/Pc
PciCin 20

23



I
ROLLER TRACKS (R-60H) SURFACE : @8K OWz

R-60BH1 R-60BH2

‘,‘/ kg/Pe 0.220
- PerCin 50

R-60BH3 R-60BH4

R-60BHS

R-60BHBA R-60BH31

R-60BH33

24



ROLLER TRACKS (R-80H)

R-80BH2

f" kgiPe 0.220

R-80BH4

R-80BH6

R-80BHBA R-80BH31

S

5.2

1 !
kglPe 0,267 N, (‘/ kgiPe 0,267
Pel/Cin 20 : Pe/Cin a5

kg/Pe 0.267
ParCin a0

25



IR \\\\

26

ROLLER TRACKS (R-85H) SURFACE : @8k OWz

R-85BH1 R-85BH2

T ' !.-I"
: ” kg/Pe 0.220

PefCin 30

R-85BH3 R-85BH4

R-85BHS R-85BHE

-
/ kg/Pe 0.215

R-85BHBA R-85BH31

R-85BH33




R-85H2

R-85H1

0.220
25

kg/Pc

PeliCin

R-85H31

R-85H3

0.300
25

kgiPe
PelCtn

0.240
25

kgPc

PefGin

R-85H33

0.240
25

kgliPe

PefCin

27






R \\\\
PLASTICS

P-1 P-1A

< - H“g&f

. &s° <
s A=
T
i kglPe 0.003 — kg/Pe 0.003
PelCin 404 PerCin 400
P-2 P-2A

kg/Pc 009 kgiFe 0oy
PciGtn 200 PelCin 100

P-2B P-3

kg/Po 0.009 kgiPe 0.005
Pe!Cin 204 PclCln 200

: S
e gjgﬁ
& x
kg/Pc 0.005 kg/Pc 0.003
FPoiCin 300 FPelCin S00
P-6 =t
5
g
L L 60
kg/Pe 0.006 ka/Pe 0.010
PelCin 150 Pc/Cin 200

30



Unit : mm

P-7A P-7B

P-8
kg/Pec 0.005 4 kg/Pe 0.014
FolCin 300 PeiCin 100
P-10 P-11
E y
-
kg/Pe 0.018
PelCin 100
P-13
'\-\._ .\-.\-H-\. :-‘-
-. e
— o kgiPc 0.014 kgliPe 0.042
PeiCtn 100 PeliCin 100
P-15 P-15A

kg/Pe 0.008 kg/Pe 0.007
Pa/Ctn 00D PeiCin 000

31



IR N\\\\
PLASTICS

P-L1

ka/Fc 0.040
PerfCin &0
P-L2
1 \-\-\-\“—\.
.ll ‘-‘H:.a-.
kg/Pe 0.014
PefCin 120
P-L2B
-\-\"-\._\_\‘ |
i o |
T, 1 I""i-:}ﬂ
.
"'\-\.._\_\‘ .
- &a‘f @ ”i
N
I
kgiP¢ 0.013
PafCin 100
P-L2D
h\\—
- X
i
- kg'Fc 0,026
FefCin S0
P-L3A

AN

ﬁﬂE
kg/Pc 0.008
Pe/Ctn T00

32

kg/Pc 0022
FcoiCin 60
P-L2C
\ 450 jﬂﬂ
| . \
|
. kg/Pc 0.020
PofCin 1]
P-L3
rd
o /
[ Iy
kgiPc
Pe/Ctn
P-L3B

kg/Pe 0.088
Pel/Ctn 100



Untt : mm

P-L3C P-L3D
d, i / . /
2 / 0 A
//
kg/Pec 0.045 kg/Pe 0.028
PelCtn 150 Fo/Ctn =00
P-L4 P-HJ2B

Hﬁh
- \ S
;f:} g
U
--'}.
kg/Pc 0,006
- PelCin 400

P-25 INSTRUCTIONS

5

33






_______\\\\N
METAL ACCESSORIES

F-2A

F-3A

F-4A (Use with F-10/F-10A/F-21)

N

36

v

ReoHS

SURFACE : @8k OWZ

F-3
r
kg/Pc
PelCin
F-3B
3
-
* (@ a
-
[
N 1ol 9y
T
kgiPe 0.001 J kg/Pe 0.020
Pe/Cin 10000 Pe/Cin 00

kg/Pe
PelCin



Unit : mm

F-6 F-7

" kglPc 0.082 kgiPc 0.013
FeiCin 240 Pe!Ctn 800
F-9A F-10 tUse with F-4A/F-10A/F-21)
.4.:::
1135
.2
4
145
T 28
kg/Pe 0.013 - knlPe
9 Ed 0.072
PefCin 800 Pc/Ctn a0
F-10A (Use with F-4A/F-10/F-21) F-10B (Use with F-4A/F-10/F-21)
%]
5 1135
) - = .l
il N 14,
28
kg/Pec 0106 L kg/Pc 0.065
Pe/Cln 75 Pe/Cin 75
F-11 F-11A

HQI"P'E 0,108
PefCin 120

37



_ \\\\N Vv

RoHS

METAL ACCESSORIES SURFACE : @8K O Wz

38

F-12A/F-12B/F-12C F-13A/F-13B/F-13C/F-13D

#1
" N
~ 4 .7)
o - .
.-'.i"'::: ; -"'-.- ] " -~
.-':'.':-.... .-'.':-:'5? h &
i J,/f;f y = 7
- .___."-:::.. A % F.-,.
/ Part Mo, F-128 F-128 F-12C u Part Mo, F-13A F-138 F-13C F13D
: Lirmm) 235 335 435 Lirnim) &0 1D 150 200
kgPe 0183 0225 0.255 kg/Pe 0020 0.046 0052 0070
PciCin 40 30 25 Pe/Cin 350 230 180 150
F-14 F-15
= r"
r
F-16 F-17
ka/Pe 0.275
PeiCin 25
F-18 F-18A
v:-"" %) =3
kgiPc 0.040 kg/Fc 0.040
Pe/Cin 120 Pe/Cin 120
F-18B F-18C

ﬁ?ﬂ
4-5—-—

P24

kgiPe 0.050
PelfCin B0




Unit : mm

F-19 F-20

F-24A F-24B

kg/Pc 0.075 kg/Pc 0,073
PelCtn 120 PciCtn 120

F-25C F-26

kg/Pc 0.041 ' kgiPc 0.009
Pe/Ctn 220 v Po/Ctn 400

39



~__\\\\¥\ v
METAL ACCESSORIES SURFACE : @Bk OWzZ

F-27 F-28




L Series
LEVELING FEET

ﬁ_I:E;;E:ir}:rE.E:E;-ﬂmw._|-E--

LA MAGAM M m.

...“.-_ __.J_r._.-... LR | —
PPN

& -"-
-

- L

‘. |

TPV
;E::E:E:&:

,:.E::___::E__:r__%__:_E::__E__, SN ____:_:_______:_EE.____:_r__b__z;__h_:______.r________r_,_

mwmmmmmmw51=1:11===11==J:au::;;;;;;; ;;f;;,?:_:

_..I.u._- . : -
P

]
1
&
.

i

S E RN R A A L

mmmm _,t;f.;::;::::;::::;;;::;:;_ uwnw
1_._.__,._._.____3._.mitixxiiiiii

Py Ty Ty Ty .,__.._.......,_..._.._..._ __......._r

(AR TR AR TR f::ffég
RN O e .._.__._.:_.__,____w__.:_&______,__1_E_:____g._%______1_._34_5_4_‘__;_._.r:._ ih

PUELEE R R

REERRARRRASA
A ApApp _.....__.._-.’n ik

f__*___ PR TR TR AL R L
1:1:1===111==1====1=1=111-

ST T




__\\\\N
METAL ACCESSORIES

L-1

L-2A

L-3A

A Y A S A A WA Y R YA

R VRIS R FEFS R R IR R

L-3C

42

kgiPe 0.043
PefCin 180
—~ {28
—M8 x 50
f -2-(34.3
30 o
J— . &
15.5 @ 17
_*_
kgiFc 0.068
FoiCin 130
12 x 100
4
18
@32 _f
kgiPe 0104
Pc/Cin 130

12 x 100
33
iy
@32

Part Mo, L-3CCP10 L-3CCP12
kgfFc 0181 0181
PefCin 100 100

L-2

L-3B

L-3D

L-4A

|

3
f
|
i
J
1
i

v

RoHS

SURFACE : @Bk OWZ

(28
E—mz x 50
! -2-F34.3
30 o
ok
o
e —L
e (3 2
kg/Fe 0. 100
PelCin 120

kgiFc 0.074
Pe/Ctn 200
M12 x 100
20
|« os0+]
kg/Pc 0.129
PeiCin &



L-4B L-4C

12 x 100

i |

35
|

Part No. L-4CCP10  L-4CCP12

kg/Pe 0,215 0215
Pe/Cln 70 70
L-4D L-4E
kglPg 0,105
PefCin 100
L-4F L-5
e EE,E_ —
—M12 x 100
a> f
R S A [ = | 30 -2-04.3
i | e I
> i | { M12
__[ -
kg/Pe 0.180 kg/Fe 0.033
Fo/Cin 100 Po/Ctn 200
L-6 L-6A
kg/Pc 0.033
PeclfCin 140
L-6B L-6C
228.4

kgiPc 0.112 kg/Pe 0.103
PelCin 100 g0

43



e ———A AN Y

METAL ACCESSORIES

L-7
©28.4

|

( 280 i
kg/Pc 0,395

Pe/Ctn 15

L-9

SURFACE : @8K O WE

104 101

£28.4

kg/Pe
Pcl/Cin

107

0.460
15



N Series

T
A
i

{ .”. ...-. i ] T

NI

I

o ¢




R \\\\

FASTENERS
Picture Part No. Desc.
N-1
M-1MBBZ
MN-1MBEL Mut
(==
M-1MeWZ
S 8 -J"
. N-1ENBZ
Mut
MN-1ENWZ
MN-2
MN-2BZ
ot N-2BL Bolt
- N-2WZ
%,‘ y N-2ENEZ
Baolt
M-2ZENWZ
N-2M612B2
Balt
M-Z2ME12WZ2
MN-3ME40WZ Bolt
N-6
Q—** N-6M8WZ Mylon Mut
Picture Part No. Classification
N-8 (1/2)

g N-8CPOTWZ (1/2)
'i’ Coated Pipe
' M-BCP10WZ (1/2)

- N-8SUSOTWZ (1/2) SUS Pipe
N-8A (M10)
; : Coated Pi
L N-BACP10OM10WZ oated Pipe
N-8ASUSOOM10WZ
& 13 SUS Pipe
N N-BASUS1IM10WZ
N-8A (M12)
N-BACPOTM12WZ
N-BACP10M12WZ
: ,‘ ) Coated Pipe
= N-BACP14M12WZ
m i N-SACP20M12WZ
SR
- N-8ASUSOTM12WZ
N-8ASUSOSM12WZ SUS Pipe

N-BASUSTIMI2ZWZ

46

Surface

BZ
BL

WZ
BZ

WZ

BZ
BL
W2

BZ
WZ

BZ

WZ

WZ

W

Application

©28 x TO.7
D28 x T1.0

¢28 x TO.7

28 x T1.0
$©28 x TO.9
©28 % T1.1

©28 x TO.7
©28 x T1.0
©28 x T1.4
©28 x T2.0
@28 x TO.7
©28 x TO.9
28 xT1.1

kg/Pc

0.002

0.002

0.007

0.007

0.005

0.017

0.002

ka/Pc

0.075

0.084

0.075
0.084
0.090

0.075

0.084
0.090

SURFACE : @67 @BL O wW?Z

Pc/Ctn Apply
5400 Bolt
5400 Inch Bolt
2700 Mut
2700 Inch Nut
4000 Mut
1200 M8 MNut
4000 ME Bolt

Pc/Ctn Apply

D246
350

$24.0
320 D26 4
350 $2d4.0

$26.0
320

D256

G246

$24.0
350

$23.2

$22.0

$26.4
320 ®26.0

D256



Picture Part No. Classification
N-9
N-9MSBZ Srew Set
N-11

N-11CPM12AL

Coated Pipe

N-11CP 1/2 AL

N-11SUSM12AL

ﬁ

SUS Pipe
N-11SUS 1/2 AL

Application

MNA

©28 x TO.7
®28 x TO.9
©28 x T1.0
P28 x T1.4
28 x T2.0
®©28 x TO.7
®©28 x TO.9
©28 x T1.1

kg/Pc

0.030

0.026

0.037

Pc/Ctn

250

350

350

Apply

Srew Set

©20.4

©23.3

47



C Series
CASTERS




___\\\\VN

CASTERS
Wheel ], il
: ee
Picture Part No. @ : @I L
Material
{rrema} (e =g ] {ETeTe]
C-3TPR75G 75 TER 32 100 104 M12 X 60
C-3TPRT5GCP 75 TPR 32 100 104 M12 X 80
C-3TPR75GSUS 75 TPR 32 100 104 M12 X 60
C-4TPRS0G 50 TPR 32 100 90 M12 X 60
C-4TPRS0GCP 50 TPR 32 100 o0 M12 X 60
C-4TPR50GSUS 50 TPR 32 100 90 M12 X 60
C-4TPRT5G 75 TPR 32 100 104 M12 X 80
C-4TPR75GCP 75 TPR 32 100 104 M12 X 60
C-4TPR75GSUS 75 TER 32 100 104 M12 X 60
C-4TPR100G 100 TPR 32 130 130 M12 X 60
C-4TPR100GCP 100 TPR 32 130 130 M12 X 60
C-4TPR100GSUS 100 TPR 32 130 130 M12 X 60
C-4ATPR75G 75 TPR 32 100 104 M12 X 80
C-4ATPRTSGCP 75 TPR 32 100 104 M12 X 60
C-4ATPR75GSUS 75 TPR 32 100 104 M12 X 60
C-4ATPR100G 100 TPR 32 130 130 M12 X 80
C-4ATPR100GCP 100 TPR 32 130 130 M12 X 80
C-4ATPR100GSUS 100 TPR 32 130 130 M12 X 60
C-4 ESD
C-4TPRESDT7S5G 75 TPR 32 100 104 M12 X 80
C-4TPRESD75GCP 75 TPR 32 100 104 M12 X 50
C-4TPRESD75GSUS 75 TPR 32 100 104 M12 X 60
C-4TPRESD100G 100 TPR 32 130 130 M12 X 0
C-4TPRESD100GCP 100 TPR 32 130 130 M12 X 60
C-4TPRESD100GSUS 100 TPR 32 130 130 M12 X 60
C-4A ESD
C-4ATPRESDT5G 75 TFR 32 100 104 M12 X 60
C-4ATPRESD75GCP 75 TPR 32 100 104 M12 X 60
C-4ATPRESD75GSUS 75 TFR 32 100 104 M12 X 80
C-4ATPRESD100G 100 TPR 32 130 130 M12 X 60
C-4ATPRESD100GCP 100 TPR 32 130 130 M12 X 60
C-4ATPRESD100GSUS 100 TPR 32 130 130 M12 X 60

50



C-7 ESD

Picture

Part No.

C-5TPR100G

C-STPRESD100G

C-7TTPR100G

C-TTPRESD100G

[rm)

100

100

100

100

Wheel ,[l.,.
{rm

Material

TPR 32
TPR 32
TPR 32
TPR 32

)

(kg

130

130

130

130

Yl

128

128

128

128

()

895 X 67

85 X 67

95 X 67

95 X 67

+—H —
el (ot

{mm

T3 X 45

T3X 45

73X 45

T3 X 45

51




__________\\\\N

52

CASTERS

C-8

C-8 PU

Picture

Part No.

C-8TPR150G

C-8TPRESD150G

C-8STPUZDOR

)

150

150

200

Wheel
Material

TPR

TPR

PU

{ <

{mem)

50

S0

S0

(=g

410

410

480

Tl ol

190

190

2405

{rewmi)

115 X 100

115 X 100

115 X 100

{mem)

84 X713

84 X713

84 X713



b i) —H
Picture Part No. @ e "U" % @I I I
LU {remij

Material
\mmj

C-10A

C-10ATPR150G 150 TPR 50 410 190 115X 100 84 X713
C-10ATPRESD150G 150 TPR 50 410 190 115X 100 84X 713

C-10APU
C-10ASTPU200R 200 PU 50 480 2405  115X100 84 X713

53






Welcome OEM Order




Combining Pipe Racking & Green Frame System

GAJ28-HO1 GAJ28-HO1A

kgiSet 0.0086
Sels/Cin o6

GAJ28-HO02 GAJ28-HO3

kgl3et
SelsiCtn

kg/Set 0.101
Sels/Cin Sels/Ctn a6

Salds I



R \\ N\

GA28-14A

GAZ28-16A

kg/m
miPe 4
miEdl 48

GAZ28-18A-50

GAJ28-B05

kg/Pc

0042
PofCin Qb0
GAP28-19
,.f"‘ﬂﬂlz ]
.
<y
=
38~
L3
kglPc 0. 104
ParCin 130

64

GA28-15A

4
e

GAZ8-17A-100

ﬁg}gﬂ‘

S -

GAZ28-19A-30

GAE28-46

kg/m 0.244
miPC 4
miB0DL. 48
b 105 ]
ﬂ! TT re Y ™ 't"'.i"
5.
L e .5 100 1 {5
kg'm 0.549
miPe 4
miBdl 48

kg/m 0.170
miPec 4
miBdl 48

GAP28-20

QAR ]
2R %
75
kg/Pc 0.100
PelCin 120



Pallet system assembly

1 Main Frame 2  Pallet Separate Type Assembly

ﬁ

“GA2B~18A-50

GAZ8-1TA-100
GAP28-20

3 Dimension Select Method

A=L-76 A=L2 -5
X=W1+12  X=B+12
Y=L2+ 12 Y=A+12

QTy. L2/wW | L/w
. | {mm) {mm})
pallet support farse 1 333 - 1133|403 - 1203
2 342 - 1143[413 - 1213
3 353 - 1153|423 - 1223
pallet connector 4 IT3- 1173443 - 1243
5 383 - 1183|453 - 1252
) B 393 - 1193|463 - 1263
# Layer borad width three kinds of cellular layer board +5mm 7 203 - 12031873 - 1272
¥ When Pallet connector connected with pallet support frame, 8 413 - 12131483 - 1283
Please use the outer hexagon socket with electricity tool to I | 422 - 1223 1493 - 1293
lock the tapping screw and set the torque to B~10N/m ¥ FINED QTY
4  Frame assembly method 5  Hoisting assembly method

6  Application

saL9S

| GAJZE-BOID

Pallot horizon assembly Pallet vertical assembly



O Series

TOOLS




NN\

TOOLS

0-1

0-3/0-3A

0-5/0-5A

Q-7

O 5 mm
L 160 mm
A 33 mim
kg/Pc 0.025
Pei/Ctn 08
Cutting Range 332 mm
San 1X 03
Oplional Parts 2 X 0-34
kgiPc 0417 /0.019
Pe/Cin 12
1x0-5 ordinary trim-
Packaging ming biada
fincluded)  1x0-5A high strength
trimming blade
ka/Pc 0.060 4 0.021
L1 1800 mam
L2 Range 0-1200 mm

0-2

0O-8

L1

L2
kg/Pe
Fc/Cin

Cutting Range

kgiPc
Pe/Cin

5 mm
123 mm
16 mm
0103
20

@ & - P 40 mm
0.230
a2

Tube inside and outside trimming

knife.

o

Thickneas

kg/Pe
FciCin

13116 mm
3.2 mm
0.050

200

Faor caster assambling.

Sawing Range
{mm)

Max Clamp

Kain Motor

Saw Blade Type

O

O Yo
85 X 85
110X 75
D 55
S0 X 50
110 mm

452
18124 KW

25017 2757 300



69



